Exponents and Scientific Notation
Simplify.	Express your answer without using negative exponents.
1) 

2) 

3) 

4) 
5) 

6) 

7) 

8) 
9) 

10) 

11) 

12) 
Evaluate.
13) 
14) 

15) 

16) 

Express the number in Standard Notation.
17) 
18) 

19) 

20) 

Express the number in Scientific Notation.
21) 
22) 

23) 

24) 

Order the numbers from least to greatest.
25) 
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26) [bookmark: _GoBack]A truckload of compost weighs 8,500 pounds. How much would 20,000 truckloads weigh? Express your answer in Scientific Notation.
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